
X4

Left side legs 

X1

Scerws  
DIN 7991 M8X25 

BA

1 A – Left side 
legs

B

C

X1

Allen Key

D

Ensamblar los travesaños en lateral   

E

Final metal table

X1

Fix profile with screws 
dinal metal table

X1

A

Fix profile 

E

D

Atornillar siguiendo la figura 

F

D

Reference

X4

Left side legs 

X1

Scerws  
DIN 7991 M8X25 

BA

1 A – Left side 
legs

B

C

X1

Allen Key

D

Ensamblar los travesaños en lateral   

E

Final metal table

X1

Fix profile with screws 
dinal metal table

X1

A

Fix profile 

E

D

Atornillar siguiendo la figura 

F

D

Reference

Instrucciones de montaje 	
Assembly instructions
Assembly instructions
Montageanleitung
Istruzioni di montaggio

Kettal LANDSCAPE Kettal Studio

Dining table extendable
Mesa comedor extensible
Table s. à manger allongeable
Rechteckiger Essstisch
Base tavolo pranzo allongable

947140-...

1. Fit the crosspieces to the legs and tighten screws.
Ensamblar los travesaños a las patas y atornillar.
Assembler les traverses sur les pieds et visser.
Querstreben mit den Beinen zusammenfügen und festschrauben.
Unire le traverse alle gambe e avvitare.

Place the marked side on a flat, protected surface. Set up the fastening crosspieces according to the numbering and the screw indications. Set up the table 
parts according to the numbering and the arrow position.
Colocar el lateral marcado en una superfice plana y protegida. Colocar los travesaños de union siguiendo la numeración+los tornillos. Colocar lo componentes 
de la mesa siguiendo la numeración y la posición de las flechas
Disposer le côté marqué sur une surface plane et protégée. Disposer les traverses d’union en respectant la numérotation et les indications des vis. Disposer les 
éléments de la table en respectant la numérotation et la position des flèches.
Seitenteil auf eine flache und geschützte Oberfläche legen. Querstreben entsprechend der Nummerierung und den angezeigten Schrauben anbringen. Die Teile 
des Tisches entsprechend der Nummerierung und der Position der Pfeile anbringen.
Collocare la struttura laterale su una superficie piana e protetta. Collocare le traverse di unione seguendo la numerazione e le indicazione delle viti. Collocare le 
componenti del tavolo seguendo la numerazione e la posizione delle frecce.

X4

Left side legs 

X1

Scerws  
DIN 7991 M8X25 

BA

1 A – Left side 
legs

B

C

X1

Allen Key

D

Ensamblar los travesaños en lateral   

E

Final metal table

X1

Fix profile with screws 
dinal metal table

X1

A

Fix profile 

E

D

Atornillar siguiendo la figura 

F

D

Reference



2

X4

Reinforce with top 

X1

Scerws  
DIN 912 M6X25 

BA

Reinforce

C

X1

D

Extensión module

X1

3

A

C

B

Right position 

High Regulator 



X1

Right side legs 

X1

Table top 

BA

4

5

Right Position

Glass
Regulators 



X4

Scerws  
DIN 7991M8x25 

X4

Scerws  
DIN 912 M6X25

A B 

A
B B




